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Properties of Circles 
. 

Multiple Choice  
 
1.  

 
 

 The center of the above circle is located at the point 

(4,0). What is the circumference of the circle? 

 A) 8 

 B) 16 

 C) 8𝜋 

 D) 16𝜋 

 

 

2.  

 
 

 The circle above with center 𝑂 has a radius of 6. What is 

the length of minor arc 𝐴𝐵̂?  

 A)  3𝜋 

 B) 6𝜋 

 C) 12𝜋 

 D) 36𝜋 

 



 

3. In the 𝑥𝑦-coordinate plane below, the circle is tangent to 

the 𝑥-axis and tangent to the 𝑦-axis at point 𝐴. What is 

the area of the circle? 

 
 A) 6𝜋  

 B) 9𝜋  

 C) 12𝜋  

D) 36𝜋 

 

4. In the the figure below, 𝐴𝐵̅̅ ̅̅  is a diameter of the circle 

with center O. If  𝐴𝐶̅̅ ̅̅ = 4 and 𝐵𝐶̅̅ ̅̅̅ = 5, what is the 

circumference of the circle? 

 

 A) 
3𝜋

2
  

 B) 3𝜋  

 C) 4𝜋  

D) 6𝜋 

 

 



 

5. Rectangle 𝐴𝐵𝐶𝐷 is inscribed in a circle and has a width 

of 6 and a length of 8. What is the circumference of the 

circle? 

A) 6𝜋 
B) 10𝜋 
C) 36𝜋 
D) 100𝜋 

 

6. The diameter of a circle is 13.5 cm. What is the area of 

the circle? 

 A) 6.75𝜋 cm2 

 B) 13.5𝜋 cm2 

 C) 45.6𝜋 cm2  

 D) 182.3𝜋 cm2 

 

7.  

 

 
Point A is the center of the circle above. If ∠𝐴 measures 
7𝜋

18
 radians, what fraction of the area of the circle is the 

area of the shaded region? 

A) 
7

36
 

B) 
7

18
 

C) 
7

28
 

D) 
7

42
 

 

8. In the 𝑥𝑦-plane, a circle is centered at the origin, and 

point (−5, 12) lies on the circle. What is the area of the 

circle? 

 A) 13𝜋 

 B) 26𝜋 

 C) 169𝜋 

 D) 676𝜋 



 

9. What is the area of a circle with a circumference of 𝜋? 

 A) 
1

4
𝜋 

 B) 
1

2
𝜋 

 C) 𝜋 

 D) 2𝜋 

 

 

10.                     

 
 

If the circle above with center 𝑌 has a circumference of 

24, what is the arc length of 𝑋𝑍? 

 A)   3 

 B)   6 

 C)   8 

 D) 12 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Grid-In  

 
11. A circle with center (3, −2) is tangent to the 𝑦-axis. 

What is the radius of the circle?  

 

 

 

 

 

 

 

 

12. In the figure below, 𝑃𝑅 ̅̅ ̅̅ ̅and 𝑄𝑆 ̅̅ ̅̅̅are diameters of circle 𝑂, 

and the measure of ∠𝑃𝑄𝑆 is 35°. What is the measure of 

∠𝑅𝑂𝑆, in degrees? 

 

  

 
 
 

 
13. Points 𝐴 and 𝐵 lie on a circle with radius 9, and arc 𝐴𝐵̂ 

has length of 6𝜋. What fraction of the circumference of 

the circle is the length of arc 𝐴𝐵̂? 

 

 

 

 

 

 

 

 

 



 

14. On the semicircle below, point 𝑃 is the point with the 

smallest 𝑥-coordinate. What is the 𝑦-coordinate of point 

𝑄? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

15.  

 
 

 The circle shown has a circumference of 84𝜋. The length 

of minor arc 𝐶𝐵̂ is 𝑥𝜋. What is the value of 𝑥 ? 

 

 

 

 

 

 

 

 

 

 


